 ALGEBRA (SetA) |
Time : 2.30 Hrs.) Question Paper : Septem ber 2009 (Max. Marks : 6

~ Note : Please see to Question Paper March 2009. ' ' - . o ]
Q. 1 : Attempt any six of the following sub-guestions. - L 12
(i} Solve the following linsar equation in one variable : 4 (m + 3) = 16.

(ii) Find the HCF of 277, 36x. | | |

o ax®agy®
(i) SIPIY - o 3y) (ax - 9y) . . o
(iv) Sachin invested Rs. 700 in shares of face value Rs. 10 each at the market price of Rs. 10
each. Company declares a divident of 15%. Find his dividend. '
(v) Find the 7th term of the A. P. 6, 10, '1,4. — _ - -
(vi) Write the following equation in the form ax2+bx+c=0:1-3t= 4 -2t
{vii} Convert the binary integer to its decimal equiv.élent : 1100, _
(viii).In a bag, there are fifty cards bearing the numbers jrom 1 to 50. One card is drawn &l
random. Write down the _sample space S and number of sampie points. - - o
Q. 2 : Attempt any four of the following sub-question. L S (19
(i) Solve the following equations by Cramer's Rule | . :
. 2X+3Y=8|3X+2-y-.7:=0. R : ) . . _ _
iy A TV set is bought for Rs. 17,500 and sold for Rs. 19,700 by a dealer. The rate of M-VAT it
12.5%. Find VAT to be paid by the dealer with subtraction method. . . - .
(i) Find the sum of all naturai numbers between 50 and 250 which are exactly divisible by 3.
- .- (iv) Convert the decimal integer to its binary equivalent by using division-remainder technique:
138, R - o N R .
(v} Marks obtained by a student in an examinatioh_ are given below.
"' Draw pie diagram representing this information ' :

" Subject Marathi | English | Science Mathematics

‘Marks 85 | 85 90 100 |
' (vi') Find thé LCM gf the following polynomiials : a?- 3a +2; 2a? - 5a + 2. -

Q. 3 : Attempt any four of the fellowing sub-questions : (1Y
(i) ATV set can be purchased for Rs. 7000 cash or for-Rs.. 3600 cash down payment togetne
with Rs. 3570 to be paid after four months in one instaiment. Find the rate of interest. -
(i) If ( y - b) is the GCD of (y* -y - 6) and {y* + 3y - 18), then find the value of b.
(i) Solve the following quadratic equation by the for_mula'rﬁethod. Bp2-7p-1=0.
- {iv) Simplity the following. 1111, + 1001, - 1101, + 10111, : I
{v) There are 15 tickets bearing the numbers from 1to 15 in a bag and one ticket is drawn
random'frpm_the bag. Find the probability of the event that the ticket drawn. _ - o
.. (&) bears an even number. - . (b)bears a r._rumbér which is a multiple of 5.
. (vi} Sukhdev purchased ten plywood doors. Thé sale price of one piece is Rs. 1125 and the 13
of central sales tax is 4%. Find the riet selling-price of 10 pieces. L .
Q. 4 : Attempt any three of the following sub-questions : ) (12

-2m2.+"?m.-'-4; ___- : _4n."2 -1 .

i Simpl-ify the foilo'winl P S : :
0 o g_ﬂn‘a""—1_3n3+4 em? +m—1
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(i} Firid the median : . vVer: Juestionrap.
ClassInterval | 0-10 | 10-20 | 20-30 | 3040 | 4050
Frequency | . 5 -8 [. 15 . 18 7

(i) W—hen,t is added to the nume'rator as weli- as th'e denominator of a cértain fraction, -it be-

a _
comes ;and if1is subtracted from both the numerator and the denominator, it bec:omes; Find

the fraction. .

(iv) The sum of the ages of father and his son is 35 .years and the product of their ages is 150. -
Find their ages.

"~ (v) if the 5th and 12th terms of an A.P. are 14 and 35 respectwely, find the first term and the
tommon difference.

{vi} For a person (man) monthly s.alan,er is Rs. 8650 (excluswe of C. A. ) and hls deductions areas
follows.

LIC Rs."135 p m., GPF Rs 500 p . Profession Tax Rs 2500 p.a. Infrastructure bonds
Rs. 5000. :

Find his taxabte amount for the fnancnat year 2006 07. . :

Q. 5 : Attempt any three of the following sub-questions : : _ {12)

- (i) Solve the following smultaneous equattons by usmg graphlcal methc—d R
y=68-3xy=4-x ' : o

{ii) A coin is tossect thrice. Find the probability.of the events that -

(a) head appears twice - ' ' (b} head appears at the most twice.

(iily A man berrows certain amount which is to be paid back in two equail annual instalments.
Compound mterest is calcutated at the rate of 10% p.a. if. each Instalment is Rs. 6105 find the sum
borrowed.

(iv) A person buys 200 shares of face value Rs. 10 each from a company He selis out these
shares at Rs. 18 each. While selling he pays 2% brokerage. Flnd his proﬂt and profit per cent

* (v) Find the mean by steep deviation method : '

P

" Pocket Money 0-10 10-20 |- 20-30 - 30-40 | 40-50
{per day in Rs.) ' ' o : S
No, of Sfude_ﬁts : 3 . 7 ' 5 2 6

i 3+2X 2—35(+18x_x2 o | o -
(Vi) Simplify : =~ 5, o | ‘_

X° -4
eee
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